[Event "Tal Memorial"]
[Site "?"]

[Date "2021.04.14"]
[Round "6"]

[White "Owen Shen"]
[Black "Mark C Stokes"]
[Result "1-0"]

[ECO "A21"]

[EventDate "2021.04.14"]

1.c4 e52. Nc3 £5 3. d3 Bc5 4. g3 a6 5. Bg2 Nc6 6. a3 Nf6 7. e3 O-O 8. b4 Ba7

9. Bb2 d6 10. Qc2 Be6 11. Nd5 Rb8 12. Ne2 Ne7 13. Nec3 c6 14. Nxe7+ Qxe7 15.
0O-0 Qf7 16. Ne2 Qh5 17. d4 g5 18. dxe5 dxe5 19. Rfel Rbd8 20. Bxe5 Ng4 21. Bb2
Bxe3 22. Qc3 Bxf2+ 23. Kf1 Qg6 24. Nf4 gxf4 25. Rxe6 Nxh2+ 26. Kxf2 Qxg3+ 27.
Qxg3+ fxg3+ 28. Kxg3 Ng4 29. Re7 Rd3+ 30. Bf3 Nf6 31. Rgl Rf7 32. Kf4+ Kf8 33.
Bxf6 Rxf6 34. Rgg7 h6 35. Ke5 Rxf3 36. Kxf6 1-0

Position after 21 Bb2
How can Black win?

=) [

21....Qxh2+ 22. Kfl Nxe3+
23 fxe3 f4

Position after 24 Nxf4
Best Defence/Attack?

24 ..Rd2 threatening 24...Nxh2 mate
if 25. Qxd2 Bxc4+ 26. Nd3 Rd8
if 25 Re2 gxf4 26. Rxd2 Be3
27 Re2 Nxh2+ (-3.7)



